horizontal system - standard

A/0718-242

2
A/5729-242
3 5
A/0302-242 A/0221-012 A/0830-042 A/0512-042
6 7
A/12x1,5 A/0302-012-S A/0940-042-N
07/13 =brus/satin K320 &3 lesk/polish




horizontal system - standard

) t
10 412 pa | 16

Quality

7 7 TR & | 5 B B
//“

A/GLUE-50g A/spray-WS A/cl 500ml
m A/5732-242 A/5729-242 A/5730-242
r--- A/12x1,5 --- A/42,4x2 ___A/0790-242 __AJ0727-242-§  A/0302-242
\ ' | ‘, / .
A10/0015-012-A ! ' !
Al
\ ] e
\ \ ! <~ 'A-DIN 7380-A2 M5x12
‘max. 1500mm
S L \ é\,/
A/0221-012 - L :
A-DIN 7991-A2 M5x16
| A/0718-242
;
- A-DIN 7991-A2 M5x16
o
A/0830-042 !
| left
\
A-DIN 7991-A2 M5x16 \
! . "1  A/0832-042
h S N
1 ~ N
ll X N ~ N
right ; \\\\ N Yo
! < N Te-al
|f% YQJ ™ *~. ADIN 1587-A2 M10
A/0833-042 .
A/0302-012-S
A/0942-242 @ oy A6/004-6 A-DIN 975 M10
A/0012-012 \”’%
A6/90x42x13-5 o - v T . - - -
SRS A/0512-042 TS | — .
A-DIN 934 M8 A-DIN 934 M10 \ 00y ] *._/ADIN 1587-A2 M10
A6/021-6-A A-DIN 975 M10
A6/85x42x6-S  A-DIN975M8 A/0940-042-N A-DIN 975 M10 | A-VR90-4D12 A-BR90-4D12 A/5729-242

\ handle system - standard

e

L4

A/0504-042

A/0505-042

’ |
[ [
. \ ’
- A UBN <
_ N . ~--"

A9/42 A/0739-242-S

N = B R B
| o

'A/0708-042-B A/42,4x2

A/0625-042 A/0111-042 A/0112-042

A/0312-242 A/0302-242 A/0305-242 A/0303-242 A/0301-242-S

=brus/satin K320 £} lesk/polish

07/13




horizontal system - standard
(mm) t D(mm - —

40x40

al AISI304

A/GLUE-50g A/spray-WS A/cleaner-500ml
m A/5729-242-L  A/5730-242-L
- -A/12x1,5-L - -A/42,4x2-L /A/0790-242-L - A/O727-042-L /A/0302-242-L
\ 1 I 1 ’
\ | /
\ 1 !
“\ : //,
A/0221-012-L -~~~ \ 1 : -1
| ; e
\ B 1 ! max. 1500rmm <- ADIN 7380-A2 M5x12
. < " ; 7 N
\ \ | /) N
v ! R v \\\'/—A
A-DIN 7991-A2 M5x16 ; : NS é\r/
,/( ‘w < 7 \ . 7
! NN
\‘\ E
e - ~
// \\
e A/0718-242-L
ST ----A-DIN 7991-A2 M5x16
(@ z=:0=: o —
A-DIN 7991-A2 M5x16 SN \ et
K . \ .
I \\ \
N -r ~ N \
/ "‘@% o= — \
) A ' N I N ) 1 v
! /// \\‘, ’/ \\ 1’ \\7\’/ T \\ \\
right / - - AN 1 \ : Vo o
! ‘l 2 ) \\ 1 \‘ \ -1 ’
. , N I T —
A/0833-042-L = A / ' | .
Lo ’I Uy N i S (\ \ \ <7 N
' [N v \ N
! [N \ K | *+._ ADIN 1587-A2 M10
g, ; VN \\ .
1 \ \ ) \\
I \ \ \
A/0942-242 | L \
= e ' A/0302-012:L [
‘ ) A-DIN 975 M10
S A6/004-6-L
\ .
L= .
\\ OQ
A-DIN 934 M10 A/0512-042-L N ::
‘\ *VADIN 1587-A2 M10
A/5729-242-L
A-DIN 975 M10 A/0940-042-N AVR90-4D12-L A-BR9O-4D12-L A6/021-6-L IEBIP75 M10
handle system - standard Q
, . = >, : A
5 5 Y&
' , l N , [ N /!
Il S " % SN A/5729-242-L A/5730-242-L A/1732-042-L

N E( T R«
//,

e e

" "A/0505-042-L AJ42,4x2-L * A/0111-042-L A/0112-042-L A/0302-242-L A/0305-242-L A/0303-242-L
4 07/13

=brus/satin K320 &3 lesk/polish



horizontal system - standard

40x40 || AISI304

P S —

10x10 12
A/15%5
A/GLUE-50g A/spray-WS A/cl 500mi | A/10x10

'

i
'

- - A/40x40x2
o

-~~~ A/4790-040

~--A/4302-040 A/1734-040 A/4732-040
<2~ A-DIN 7380-A2 M5x12
S A‘\‘ -
S
'A/4718-000
N
left

A/12x1,5
A10/0015-012-A  A10/4023-012
A/0221-012
»
A-DIN 7991-A2 M5x16
E
’ \
A/4810-000 A/0830-000 / N

A-DIN 7991-A2 M5x16

right \\
. ‘
|

\
‘ ‘ !
'
1

A/0833000

A-DIN 934 M10
A/4511-040
A-DIN 975 M10

"

'
|
'
1
'
|
'
|
'
|
'
!
'
I
'
|
'
|
'
|
'
'
'
|
=

A/4732-040 -

’/'“A

A/0302-012-S

'

A-DIN 7991-A2 M5x16

A/0832-000

*\ A-DIN 975 M10

_--A-DIN 1587-A2 M10

A/4010-012

AJP-BR90-4D12

AJP-VR90-4D12

A/4940-040 A/1980-100

| handle system - standard

A6/005-4

'
'
'
'

----A/1734-040

A/4790-040

'A/4111-000

A/0112-000

A/0111-000

A/0708-000

A/40x40x2

A/4302-040

A/4301-040

07/13

=brus/satin K320 £} lesk/polish



baluster posts - standard \

(mm) t I Ciniak I
B ' 5 | ®
12 14 16 1 =
L S satin polish l
A = 1 = = | e
A = I
h >
<o) @ @ o L i Y
EN 743305 ‘8E’ § 9 q k| d o
EN 734130 s |°
h H H © T « a i ! Ei:
90cm  <3m 9 o q q <C
100cm < 12m
110cm < 30m & @ @ a 3 »
120cm > 30m a
q
2 7N | W
7 S/ e
material
satin polish satin satin
A/0830-042| height art.
Igo - A-VR90-4D12 AVR90-4D12-L AJP-VR90-4D12 AVR90-4x12
—— I100cm A-VR100-5D12 A-VR100-5D12-L AJP-VR100-5D12 A-VR100-5x12
IQOcm A-BR90-4D12 A-BR90-4D12-L AJP-BR90-4D12
®
S s I100cm A-BR100-5D12 A-BR100-5D12-L AJP-BR100-5D12
VS - I 90cm A-VS90-4D12 A-VS90-4D12-L AJP-VS90-4D12
I100cm A-VS100-5D12 A-VS100-5D12-L AJP-VS100-5D12
BS . IQOcm A-BS90-4D12 A-BS90-4D12-L AJP-BS90-4D12
I100cm A-BS100-5D12 A-BS100-5D12-L AJP-BS100-5D12
A S 424 o %
1 * T S =X
4 ] | Ua
@ \ 90cm = 8 90cm 90cm !I ] A/0718-242
£ \ 8 8 ) o
O VR o | BS . )
v E- ------------- n-,-"' ------ . ?ﬁ A/0830-042 A/42,4x2
s N S— e
T =y
| , ) | ' | o)
: 100cm ] 100cm iR 100cm o —é‘; g [100cm . *j 4
\ VR . I © g i 8 g mll BS . 8 »—;: = AJ0512-042
5 [F<+—bsx I P : " -t j (B 0
. :7 - > I
| : i i % }% ______ H ‘ﬁ_\_
L e A/0940-042-N éﬁg

07/13

=brus/satin K320

k)

€3 lesk/polish




railing sets - standard

Quality

(mm) t

AlS|

48,3 40x40 AISI304

12 14 16

= L-1500 S
L-3000

L-6000

Quality Finish art. L h Quality Finish art. L h
A/ZVR90-1500 1500 900 A/ZVR100-1500 1500 1000
A/ZVR100-3000 3000 1000

A/ZVR90-3000 3000 900 AISI304
A/ZVR90-6000 6000 900 A/ZVR100-6000 6000 1000

AISI3

Eim e e T

Quality  Finish art. L h

A/ZBR100-1500 1500 1000
A/ZBR100-3000 3000 1000
A/ZBR100-6000 6000 1000

Quality _Finish art. L h

A/ZBR90-1500 1500 900
AISI304 @ A/ZBR90-3000 3000 900 AISI304
A/ZBR90-6000 6000 900

Quality Finish art. L h Quality Finish art. L h
A/ZVS90-1500 1500 900 A/ZVS$100-1500 1500 1000
C\EIEDEN = A/ZVS90-3000 3000 900 A/ZVS100-3000 3000 1000
. A/ZVS100-6000 6000 1000

A/ZVS90-6000 6000 900

Quality Finish art. L h Quality Finish art. C h
A/ZBS90-1500 1500 900 A/ZBS100-1500 1500 1000
AISI304 A/ZBS90-3000 3000 900 P\CIEDEN = A/ZBS100-3000 3000 1000
A/ZBS90-6000 6000 900 A/ZBS100-6000 6000 1000

\ handle system - standard

Quality Finish art. L

% % % % % A/M-1500 1500
— A/M-3000 3000
L-1500 ‘ - 3000 ‘ AISI304 A/M-6000 6000

' L-6000 | Atyp

=brus/satin K320 &3 lesk/polish 0713




horizontal system - standard

A/1732-048

A/0818-042

A/0512-042

A/12x1,5

WB/D42-L...
A/0830-042

A/0302-012-S

A10/0015-012-A
'A6/80x5-M16

=brus/satin K320 &3 lesk/polish

07/13



horizontal system - standard

L 424 — e | &
1012 w 3 m 40x40 | AISI304 ‘ =
— | — buk(beech) satin
—_— =
=~ V4
0 & )
@ & [P & | & ®
2 50
= WB/D42-L ... WB/40x40-L ...
W/glue/25g _ WB/D42-G2 _ WA/D42-G2 AP s R L L
. .
\\ /I
! max 1300mm
: E
,
/
_____ APH5x20 o8&
B )|
¥ |_o
&
NN , |
| o
=0- =0 ! ' [A/0818-042
! 1
(/ AT / | : &9 mm
i \ | ' e
T OERY | N = : : <
A/0830-042 I ; : ')
Lol ‘ ' \ “Aj1732:048
UV 6/40ZH / A [@ ;
’ - = |
1 Ss N I
T S IR oo ] WOOD/M8-D
g \\ :|§|: // X N ~ o SS
’ ~ - ~ S
g R ~ - S~
¢ \ ) . A
] ! S
(3) 2505 \ é\/
e , \ ~
/) Y A/0302-012-S
k/ : . \V
N p =
A/0512-042 __.----ADIN1587-A2 M10
WB/D50-L ... ~-A6/48
E h \ )
a @ ) A6/48 DIN975M10x1000-Zn
DIN 933 M10x20 @50 400
A6/80x5-M16 WOOD/M10-D .
/ WB-VR90-4D12  WB-BR90-4D12  WBJP-BS90-4D12 | WBJP-VS90-4D12 A/1732-048
\ handle system - standard
Pl & [& P | ¢
3 50 Q-
WB/40x40-L ... WB/D42-L.... A7/42-11-A° A20/0729-042-S A20/0790-042-R || WB/D42-86° WB/D42-G55 WA/D42-G2 A20/0729-042-S  |A20/0729-042R
E N \ -7
W \ \ \\ @
N \
N \
N \
Al \
- PAiN PR
;/ I . _ / \\// \\
o c Y -
e ! l N IR // wood inox
i e —x AR L ~-- . W/glue25g  'A/GLUE-10g
A/0504-042 e T
SRl « o DN & DN
g S
A/0302-242 A/0305-242
A-DIN 975 M8 W
A/0708-042 A/0111-042  A/0112-042 WB/D42-90° A20/0790-042R WB/D42-D55kIb  A7/42-55-D

=brus/satin K320 £} lesk/polish

07/13




b
baluster posts - standard ‘

i

16 glass "
satin
A = -
5| € G 3 a o
EN 743305 S| 8 q
EN 734130 H 2| ° t
h H @ |a <
90cm <3m q o
100cm < 12m
110cm  <30m a @
120cm  >30m q
[}
vy
****** @*éﬂ**;**:****** - -
7 @ €
material
A/0830-042 buk (beech) dub (oak) buk (beech) dub (0ak)
height art.
R IQO cm WB-VR90-4D12 WD-VR90-4D12 WBJP-VR90-4D12 WDJP-VR90-4D12
I1000m WB-VR100-5D12 WD-VR100-5D12 WBJP-VR100-5D12 WDJP-VR100-5D12
IQOcm WB-BR90-4D12 WD-BR90-4D12 WBJP-BR90-4D12 WDJP-BR90-4D12

100cm

<>

WB-BR100-5D12

WD-BR100-5D12

WBJP-BR100-5D12

WDJP-BR100-5D12

By

90cm WB-VS90-4D12 WD-VS90-4D12 WBJP-VS90-4D12 WDJP-VS90-4D12
100cm [ WB-VS100-5D12 WD-VS100-5D12 WBJP-VS100-5D12 WDJP-VS100-5D12
S IQOcm WB-BS90-4D12 WD-BS90-4D12 WBJP-BS90-4D12 WDJP-BS90-4D12
$OOcm WB-BS100-5D12 WD-BS100-5D12 WBJP-BS100-5D12 WDJP-BS100-5D12

Bl%IL % sl

A PV N 424 sho
N — =N\ N >
1 A [ srr
o} -
. sa‘\ 90cm g 8 90cm A/0718-242
g 4x I BS . g
@ ® 7 e
I e emm.
a i =) E
v O N B S D5
Jdo - A/1732:048 WE/D50
= < =
A ’][ N X424 QI —T \YY’V
- 2T
T | o
| . = @
| g
© —
, 100cm 2 100cm < g 8 [100cm I <
g 3 ® 8 s 8 o
\ VR . |8 g I BS g WT A/0830-042 A/0512-042
£ i i |
S > €—— 5y = Nt | 9
S ! 1 E
- 7 | — |
: et | L
; R H 4 97; ______ AN o
"""""""""" A6/80x5-M16
\ “—
10 07/13 =brus/satin K320 &% lesk/polish
= D) p



%? railing sets - standard

-
(mm) t | b
= &
12 14 16 | glass AISI304 ; lish
satin
T T T T T
T T
h h
. L-1500 - ‘
L-3000 |
' L - 6000 |
Quality  art. L h Quality art. L h
| £ WB/ZVR90-1500 1500 900 \ WB/ZVR100-1500 1500 1000
WB, 0-3000 3000 900 WB/ZVR100-3000 3000 1000
buk(beech) 000 6000 900 buk(beech) wB/ZVR100-6000 6000 1000
T T
T T T
— i -
Quality art. L h Quality art. L h
y WB/ZBR100-1500 1500 1000
J WB/ZBR100-3000 3000 1000
buk(be ch) wWB/ZBR100-6000 6000 1000

Quality art. L h
WB/ZVS90-1500 1500 900

\ WB/ZVS90-3000 3000 900
buk(beech) wB/zvS90-6000 6000 900

Quality art. L h

WB/ZBS90-1500 1500 900
WB/ZBS90-3000 3000 900
buk(beech) wB/ZBS90-6000 6000 900

Q handle system - standard

Quality art. L

h

WB/ZVS100-1500 1500

1000

WB/ZVS100-3000 3000

1000

WB/ZVS100-6000 6000

1000

L-2000

o 315‘

! L - 3000

Quality art. L h
WB/ZBS100-1500 1000
WB/ZBS100-300| 1000
buk(beech) wB/ZBS100-60 1000
iﬁ % ) Quality art. L
WB/M-2000 2000
L-6000 puk WB/M-3000 3000
6000

' (beech) WB/M-6000

=brus/satin K320 £3 lesk/polish

07/13 1 1






